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e Please check that this question paper contains 11 printed pages.

e Code number given on the right hand side of the question paper should be written on the
title page of the answer-book by the candidate.

e Please check that this question paper contains 24 questions.
e Please write down the Serial Number of the question before attempting it.

e 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this period.
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General Instructions :

(1)  All questions are compulsory.

(i)  Please check that this Question Paper contains 24 Questions.

(iii) Marks for each question are indicated against it.

(iv) Questions 1 to 5 are Very Short Answer type carrying 1 mark each.

(v)  Questions 6 to 10 are Short Answer Type questions carrying 2 marks each.
(vi) Questions 11 to 17 are Long Answer-1 Type questions carrying 3 marks each.
(vii) Questions 18 to 21 are Long Answer-11 Type questions carrying 4 marks each.
(viii) Questions 22 to 24 are Essay Answer Type questions carrying 6 marks each.
(ix)  Answer should be brief and to the point.

(x)  Please write down the serial number of the Question before attempting it.

1. e gIaE W R I ¢ 2 1

What is meant by a ‘Business Opportunity” ?

2. ‘g afafoa ufare = o G 1

Give the meaning of ‘Hindu Undivided Family’.

3. ‘SUIE YO UY HW Yo’ H SIUS BT | 1
Differentiate between ‘Excise Duty’ and ‘Customs Duty’.
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4. VTS U AU e T o WY Uk SR Y o &9 H B Y T@T AT | STl U A
TAT IR JISTHT &l ARG € USH T & [T g8 {07 e bl HH d Tr-ud
AIITF Y TS 79T ST et o |

ST Irad T2k bl Tga Y, IUHT Sooid HiT S “SATEEIGH T o T aw

g ¢ | 1

Pranshu was working with Hitesh, a new entrepreneur, as a Production Manager. To
achieve the objectives, he issues necessary orders and guidelines to his subordinates

pertaining to work and to give practical shape to the production plan.

Identify and state the element being discussed above which is related to one of
the components of a “‘Business Plan’.

5. “fouuM =e-TeAr i aiifad S | 1

Define ‘Marketing Strategy’.

6. faframerdist & giteior @ wich U= & Hewd & [l 3f fagatl &l ool Y | 2
State any two points of importance of Stock-Exchange from the view point of
investors.

7. U ST F o Suetsy fafi=T UehRI & ‘SIg A Sl THSRT | 2

Explain various types of ‘Brand names’ available to an entrepreneur.

8. TI9UM IS 9O FRd THT AfeId ST hi Tga ohd i STl & ? Sooid hitsq | 2

How is target market identified while preparing the marketing plan ? State.
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9. TS S o 7 EHT WS FE % [T T 7% oawEe HIHS UeH YE H | Tl g
3T T 500 T 31 W T H 1200 I 66t B | T SR 3 qAT I hl A FHA i A7
R AR % 1,000 & | A THAe See 5Er 200 W €, @ 39 Uid a9 Wi 4R
AT F1 ST | 2
Jalaj an entrepreneur started a new website ‘Fashionate Shirts’ to sell readymade
shirts. In the first year he sold 1200 shirts at the rate of ¥ 500 each. His cost of placing

an order and receiving the shirts is ¥ 1,000 per order. If the Economic Order Quantity
is 200 shirts, find out the inventory holding cost per year.

10. ERY UH F7 FGEE URH FHAT IR & | 9 TH IR H ST Tl ¢ b 3 [H TR
A AR FHEAT AT | 3T T 7 3H FoTE & [ 9 39k [ow Ueeri ¥ Termar of |
3T T URIER O Gk {ohar ST ST o R | STHSRE 97 o 3% Hidos 3 & o 9re
T UH TSt ART B GO B | I 3T Fg (0 foren 6 a7 @ ufdesHtr @ @it T a9
A & TR § AESER I BT | 3T = TR Td SRR o9-aRed W qrfed
AT T STTATHA [T |

TR F g @ TeaH & fou S Ay 1 uET 6 39 uedihe U ST Soeid
FITT | T & T Th AR AT BT Sooi@ DISTT ST TR i G TR FH H Gerdl
FHAT | 2

Saurabh wants to start a new business. He is not sure of the type of business he should

start. His friend suggested him to seek the help of professionals. He contacted a
professional who asked Saurabh to pay a big amount for providing the reports and
industry updates. Therefore he decided to search for the reports and industry updates
himself. He scanned the relevant information from various national and international
websites.

Identify and state the way that Saurabh is using for spotting the trend. Also state
one more way which will help Saurabh in starting his business.

11.  “GSHITRAT Sl UTHAT o T2H T =N 6 Seoid HivTT | 3

State the first three steps in the process of ‘creativity’.

12. UH “ehRI G i fhel di foeioarsti i THemey | 3
Explain any three features of a ‘Co-operative Organisation’.
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13. fed VSt 7 2T 9 & WY THS % S T I HAGHE RN 6T | IHT 9 AT IWHT & IR
H 9gd & 3 o | 95 & HagH § A% TE ASTHIST a9 Hel Hedd % HRUT F FIH a9 |
700 STl S I= | AT U | T 3761 hie o 3TRd =18 R | ST g1 & /iTeh 37
IS B a1 g8 qAT ST STTH AN & SRR o | R a9 § 379 o oY 3Io1d i bl 3
TR |

(37 o™ AT o SIS arad 82 Sl Tgan-g |
@ el 9R fogell ol Sooi@ id 8T SdTEU o e S92 STHt o fou S ST & 2 3

Rohit Shetty started leather shoe business with his brother. Both were very excited
about the new venture. With meticulous planning and a lot of hard work they were
able to sell 700 pairs of shoes in the first year. But they did not earn any profit. Both
were happy because they were not at loss and revenue generated was equal to the cost.
Now they were moving towards earning profit in the second year.

(@) Identify the component of financial plan discussed above.

(b) By giving any four points state how this component is useful for the
entrepreneur ?

14, TS Y ST, R, “UI-3TERA’ S0 A1 & AT 8] SN & 70 forsTett ol gamer o (35h)
T IR F W | 30 UG B 9 T & | 3T I R 0T P Ul I SR o
31,000 & 791 = 38 Ufd € T 1,200 § o9 Fohel & | IR H 317 Ut g6t b 6l o
I 2,000 I T H 99 W & | 3G H I B-37aY o fow oy a1 sheen 78 & atfag
IR & T A0 30 MYHR H &1 & | SR 37987 § fF 9 Joo & HROT YA 7T
TS W TR TR BT |

TR & I W I 30 STUHR o [0 3TRE FRT 3T9TE T8 Jod-FeRe oty & e
HIT | 3] Foa-FERoT fafyr & o= 31 ol &1 Soor ot T | 3

Aarav, a small entrepreneur, is manufacturing portable electric iron for domestic use
with the brand name ‘P-IRON’. This iron is in great demand. He finds that the cost of
production per unit of the iron is ¥ 1,000 and he can sell the same at ¥ 1,200 per unit.
The competitors in the market are selling this type of iron at the rate of ¥ 2,000.
Aarav’s objective is not to earn profit in the short-run but to capture the largest market.
His expectation is that the customers will be attracted towards the new brand because
of low price.

Identify the method of pricing adopted by Aarav to capture the substantial
portion of the market. Also, state any two advantages of this method of pricing.
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fefefad gemT 100 I, 200 I @2 300 I o e o fasha-foy @ afea €

TARY 100ys 2009% 3009
®) ®) ®)
EERE R NEEDE 30 42 72
RIS ST AT Sohre 18 28 38
forsar-fey wfcsra 20% 20% 60%

FeT T AT & — 80,000

Torshar-figst @t T gehTe TRA-311d- 3TIRT ST VAT SIS | 3
Following information is related to sales-mix of registers having 100 pages, 200 pages
and 300 pages :
Register 100 Pages 200 Pages 300 Pages
®) ®) ®)
Sales Price per unit 30 42 72
Variable Cost per unit 18 28 38
Sales-Mix Percentage 20% 20% 60%

Total Fixed Cost is =% 80,000

Calculate the weighted-average-contribution per unit for the sales-mix.

IYUERT o1 | Hied GehedsT ol TgHHT T2 38 Ysh sl IISTT o foheel g ol ol
Joolg HIfTT | 3

‘All business plan for sales volumes and revenues, resource quantities, costs and
expenses etc.’

Identify the concept involved in the above planning and state any two benefits of
this type of plan.
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17. SRS =R STEAT | HH-HIT ST SIsTel BRI H1 S & GG | 0 37 o1 | 98 37T
TN T T @ o1 71 foreen # 37U e o fovdR o folT 3ok o1 | 38 aTdTeRoT &
TR TohaT Ak a8 3 GITaERT Ta RIS HT U1 T oh ST I IIHH T 7t
TS o T X Tehdl & | 39 I Hivaa forar o 36 e & fomar % forw ara
T WIfad I € HiTeh TR TR A 3Pl AR Ta=aHT i ST 6 € | ST §RT IRA

H RIS T e To  qIE HRAF THR A T {6 37 BRI Q g4 ool Seast fuiia
A § 31U § | TR A 39 el o AT 97 9Ra | Fowr 91e] W 9wed &) df 39
T BRI | 3TEvTe TN HEAT TS | I8 G &1 YR WhR FRT FEi et qramet
HIFhT o AT X o TIT R &1 77T |

(3) SIS ST W Ul Sl ITYT A §U (bl 3T JATERUNT Fhi I Tga HIT |

@) T & U el T ol 1 Seoid HITT ST SRS =TeRy 5 YRS FAIST i Foife

T T U 53T | 3

Abhiraj Chaudhary is into the business of manufacturing low-cost Diesel Cars in
Germany. He is earning good profits and ambitiously considering overseas expansion.
He scans the environment for finding out the opportunities and threats that may
influence his current and future plans. He zeros down on India as a potential place for
his business expansion as Indian Government has announced favourable trade
regulations. On selling the first lot of cars in India, the Indian Government noticed that
the emissions from these cars were above the permissible limit. The government asked
him to make necessary modifications in his cars if he wanted to continue business in

India. He readily agreed to meet the emission norms set by the Indian Government.
(@ Quoting the lines from the above para identify any two environmental factors.

(b)  Also, state any two values which Abhiraj Chaudhary tried to communicate to the

Indian Society.
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18. TSR 1 Hodish I T T STH §RT &4 | T ST Aol dedi o Seeid HiTT | 4

State the factors that an entrepreneur has to take into consideration while assessing the

market.

19. Tt Scg @ gratua fodeor gonfert s Ta i 99T 9 | W@ S a1t [l 9] e

I GHATLT | 4

Explain any four factors to be taken into consideration while selecting channels of

distribution related to a product.

20. 9 a1 O 7 feoolt favataemer & oot forenm v @t 1 Hie fovatored & O e o,
STaIfer TF T 31T § 370 Tl S99 ST ISl | AT 19T ST YR T 9ed o | 51 &
THR A TAMNEE i ATl o ST T Afqe=4 Sl S0 S 37 IH 98 foar o & o
S ST IO S e YR ST | W A A {6 Sje a9 & faque o o g fovatamemea
&1 T T ST 3R 3BT AT - 31T BT | STh U T G==aer off off | o7 39+ i
& ST S 1 FAHET U R ST | ST U ST A ST H B NS A&l AT | A
TAAIRTAT % HROT 3G S ST I HH HISH T =1 | IHF TROTHREET T TSI SHH
e fawet & T | g 3R 0 Sgd G o7 H{ith ST § 3Y Hedl 0ot 9gd & HH
AT WX fHeT @1 o T e & T 1T o HH I % HRT HH A W HE A &F
fou GaR & | Ta & T FaEE URY R ¥ Yt O 7 SFa9E & AN @, aeR
AT T 36! &7 Tal HASINAT & 9 | it 3e &Y fora o |

SR T & 3MER W A H ol § T % a9 & (et 84 & (el af
HROT B TEdH HIT T ¢ THART | T 3 Godl b1 off Sooi@ Hitoie f5= A 4 370
AT % LAY ¥ TS o T fFar | 4
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Sonu and Monu completed their education from Delhi University. Sonu lived in near
the University, whereas Monu had to go back to his village in Assam. Both of them
wanted to start their own business. Since the Government announced ban on the use of
polythene bags, an idea struck them to start a jute bag manufacturing business. Sonu
thought that he would get the advantage of University area for marketing the jute bags
and will earn good profits. He also had necessary funds. Therefore he started
manufacturing the bags immediately. He was not having any experience of
manufacturing jute bags. He also sold the bags on less margin due to tough
competition. As a result his business failed after a few years. On the other hand Monu
was happy because the raw material was available to him at a very low cost in Assam
and people of the village were ready to work at low wages because of less job
opportunities. Not only this, before starting the business Monu had researched about
the cost-structure, the market, the competitors and the strengths and weaknesses of the
business.

Based on the above paragraph, identify and explain-any two causes of failure of
Sonu’s business in comparison to Monu. Also, state any two values which Monu had
communicated to the society through his business.

21. UF I i, et & U Sgd G AE W @1 € | gg e ST Whiash Yekdm & fole Sgd
UE T Wik 9gd % AT 39 aR | S o | 310 STHE A % HRUT 98 dad
G I g 1 AT FHAT AT | TS o A S5 & TS & i I SRR A-SFTad
W R & | M 7 s s, [ 6 T Growrstt o are e § gigat fae & o
TF ‘RS’ I & aR ° g | qedt 11 aret Ffa S 39 aiEs T @ 9eud o 37 ST
TEIM X W@ & | T T URASHT Hl RSl S o (o0 ST | TedhT F ! Teafe & |
e il 38 Ui & fotw 3 2 Fie ot ST bt SATevashan of |

(@) U fabre fodia Tem &1 AW JaRe Sew o & o sTevgswdet H 9id &g

Treh KT TET |

@) TH GH H T U QAT HAT o T H 6 g8 a7 6 91 TaTe & e
A e 2
@) T G P g B M 2
@) UH UH god HT o0 ST 518 FfdT TamsT ot qoifd 3 aedr ¢ | 4
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Nitin, an entrepreneur, is living in a beautiful village of Kerala. This village was
famous for its natural beauty but very few people know about it. Due to his
entrepreneurial inclination he always tried to find out the opportunities. People of the
village are very poor as they are mostly dependent on fishing. Nitin thought of starting
a ‘Holiday Resort” with cultural centre, restaurant and other facilities in the village. All
the villagers agreed and supported Nitin for this project. They agreed to co-operate to
make this project a success. Nitin needed capital of ¥ 2 crores for this project.

(@ Name the specialized financial institution which Nitin should approach to.meet
his requirements.

(b) When was this institution incorporated as a public limited company and became
operational ?

(c) What is the main function of this institution ?
(d) State any one value which Nitin wants to communicate to the society.

T S-S .S, T B R T8 T B FAHI YR HAT ARAT & | T ST A
T IRa 9 fostelt i 4T KA-ufdieT 9g W@ off, STaie SHehl Scaie— 319 of | =aiT 3 3
faem $o o=t & @ 9En fFr 3R 1 o 7 e 7 o foan % form-semea @&
A TR a1 ST | Swei fafir fafuat o1 aRietor fha 3t o wer & forgd-3aame= o

et & T | 3 Tt g GO & ik TR e o U ! TELT 1 A FIHAT FT @7 1 |

(3 39 ‘foaR-aT & UEEH FRd g 39 GHETEU SRt ¥ A e 39k W & 39 foar
SUMEE T |

() T &SR0T hl FEEAT F fTaR-g7 & T 37T Hiell i o T |

Naveen has just completed his B. Tech. and want to start his own business. He knew
that the demand of electricity in India was increasing day by day, whereas its
generation was not sufficient. Naveen shared his views with some of his friends and
they all decided to start the business of electricity generation. They experimented
various methods and ultimately succeeded in electricity generation through garbage.

They all were very happy as India is also facing the problem of garbage disposal.

(@ Identify and explain the source of ‘ldea-field” from where the idea had been

generated by Naveen and his friends.

(b)  Also explain two other sources of Idea-fields with the help of example.

10
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23, ‘2RI AR AEREE BiF H U UGS TS ¢ | 39 olfeTd SUHeRT formelt ve ueer s
&, T Hieameer i 7 fafere foRiaret i savashar g ¢ | 36 9% HA | U S SER
1 99T AR aTeT AiaTEe arer (o f6a §, S HEfhd 9k B o 3§ ST w5 | 9gd
& AWE & | FE IR T ThT AT F ST T E q4T G & g Y feted off @
gl

(3N) ST ST F Ulekdl i 35Yd X gU HTI- [T | Tge ST gig
% 3 YHRI I TEEAT T THAET |
(@) 0T (37) H arad SYAIRTAT gieg o USRI o (AN 31 IR TehRT i Il THET | 6

“Toto-T mobiles’ is a famous brand of mobile phones. Its target customers are students
and professionals who require specialized features in the mobiles. This time the
company developed a small size wireless mobile charger which is more convenient to
use than the regular charger. This charger is made of recycled material and consumes

very less electricity.

(@) Quoting the lines from the above para identify and explain the two types of

‘added value’ in the business-growth-strategy.

(b) Also explain two more types of added value other than discussed in part (a).

24, g Y & 3T TTEH o [ o TRON i THSEY ST Ueh STH Sl T8 ST | Tl HEcl
¢ fp ufosr | U I gE THAE & IR UHE i b=t AT S A A1 5 a1
(l 6

Explain the steps for the development of the tool of cash management that helps an

entrepreneur in knowing how much cash generation and expenditure is anticipated

over a chosen period of time in future.
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